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2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.10.2

Fiber 4484, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.40.20.00.20.40.60.8

Fiber 4980, dchi2frac= 1.0



2 0 2

2

0

2

data

0 1 2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

1.251.000.750.500.250.000.25

Fiber 1491, dchi2frac= 0.9



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

1.251.000.750.500.250.000.250.50

Fiber 316, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 745, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4622, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

2 3 4 5 6 7

2 0 2

2

0

2

residuals

2.52.01.51.00.50.0

Fiber 454, dchi2frac= 1.0



2 0 2

2

0

2

data

0.500.751.001.251.501.752.002.252.50

2 0 2

2

0

2

model

0.51.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.751.501.251.000.750.500.250.00

Fiber 744, dchi2frac= 1.0



2 0 2

2

0

2

data

1.00.50.00.51.01.52.02.5

2 0 2

2

0

2

model

1 0 1 2 3

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.20.3

Fiber 625, dchi2frac= 1.0



2 0 2

2

0

2

data

2.0 1.8 1.6 1.4 1.2

2 0 2

2

0

2

model

2.01.81.61.41.21.0

2 0 2

2

0

2

residuals

0.3 0.2 0.10.0 0.1

Fiber 4650, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.4

Fiber 1484, dchi2frac= 1.0



2 0 2

2

0

2

data

2.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

6 5 4 3 2 1 0

Fiber 1391, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 178, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5 6 7 8 9

2 0 2

2

0

2

residuals

8 6 4 2 0

Fiber 342, dchi2frac= 0.9



2 0 2

2

0

2

data

2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

2.02.53.03.54.04.5

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.2

Fiber 1162, dchi2frac= 1.0



2 0 2

2

0

2

data

0.51.01.52.02.53.03.54.0

2 0 2

2

0

2

model

0.51.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 2123, dchi2frac= 1.0



2 0 2

2

0

2

data

1 0 1 2 3

2 0 2

2

0

2

model

1 0 1 2 3

2 0 2

2

0

2

residuals

0.80.60.40.20.00.20.4

Fiber 1064, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.20.0 0.2 0.4 0.6

Fiber 686, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.30.20.10.00.10.2

Fiber 1018, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

1.41.21.00.80.60.40.20.0

Fiber 624, dchi2frac= 1.0



2 0 2

2

0

2

data

0.5 1.0 1.5 2.0 2.5

2 0 2

2

0

2

model

0.5 1.0 1.5 2.0 2.5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2 0.3

Fiber 4491, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

2 3 4 5

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 427, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 4 6 8 10

2 0 2

2

0

2

residuals

8 6 4 2 0

Fiber 358, dchi2frac= 1.0



2 0 2

2

0

2

data

0.51.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.30.40.5

Fiber 569, dchi2frac= 1.0



2 0 2

2

0

2

data

0.500.751.001.251.501.752.002.25

2 0 2

2

0

2

model

0.500.751.001.251.501.752.002.25

2 0 2

2

0

2

residuals

0.150.100.050.000.05

Fiber 911, dchi2frac= 1.0



2 0 2

2

0

2

data

0.51.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1 2 3 4

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0

Fiber 2641, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.05.56.06.5

2 0 2

2

0

2

model

3.03.54.04.55.05.5

2 0 2

2

0

2

residuals

1.00.50.00.51.01.52.02.53.0

Fiber 496, dchi2frac= 0.9, EXCLUDED



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.80.60.40.20.00.2

Fiber 4675, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.8 0.6 0.4 0.20.0

Fiber 4676, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.2 0.10.0 0.1 0.2

Fiber 292, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 9

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0 1 2 3 4 5

Fiber 2065, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7 8 9

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

6 4 2 0 2 4

Fiber 1482, dchi2frac= 0.9, EXCLUDED


